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X+y+z=2
X=-y+z=0
X—y=z==2
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a) If A is upper triangular, then |4| = @,,ax -- a,, by using the combinatorial
approach.
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b) If 4 is invertible, then det(adj(4)) = [det(4)}"".
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d) If A4 isinvertible, then A* cannot be equal to the zero matrix.
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f) If Bisan nxn matrix, then |4B| =|4|B].
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5) (20 points) Let ¥ = R?, the set of all pairs of real numbers, with the operations:
(51,31 )@ (52, 72) = (5, + 33,9, *3+l)
ko (x,y)= (kx, )
Check all 10 axioms that must hold for ¥ to be a vector space, and determine
which axioms are true and which are false. Then determine whether ornot ¥ isa

vector space.
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